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Attempt ......... questions

1 One mega watt is equal to:

a.10'W b.10'W
c. 10'W d.10'W

velocity of a body:
a. Square
c. Three times

b. Two times
d. Four times

3 The work will be zero when the angle between

the force and the d1Sp1acemerE§ is:

Class:9th

Kinetic Energy is directly proportional to the

Time.....
Test:Physics
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4 There is a hot molten part, deep in the earth LL“M,v!rue{dleu*/c’uu"dl/../miu*/

a. 45 L
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1s called:

a.Lava b. Magma
c. Mixture d. Plazma

The efficiency percentage of an electric lamp is:

a.20%
c. 107

b. 15%
d. 5%

6 Capability to do work is called:

a.Energy b.Power

c.Torque d.Momentum

7 One Mega Joule 1s equal to:

a.10’J b.10%
c.10] 4407

8 The work will be maximum when angle
betvgeen force and d1sB1agement 1s:
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